Efficiency vs dr
o 0.0%

<
9.009
>

R |
jlln{VcLlUI_J.UUUEVI
vev

gé?ﬁzg—:l'%@f&{'@.lﬁR 1000evt

1 1
TP min AR

[ Efficiency vs dr (track,jet) |
.§0.01
00.009
=
0.008]
<
£.007
4
2.006
c
$.005
&
9.004
0.003
0.002
0.001
g

0.8]

Ratio

0.6F

107° 1072 107
AR(TP, jét)

Efficiency vs pu
5 0.0}

o

©.009)
9.008
(]

'®.007]
=

%.006
0.005
0.004
0.003
0.002F -+ wreremeieFrrdenenels
0.000-++F--eeieet Ly ki

0
1.4F

Ratio

1.2f

......

I L = -

20 30 40 50 60 70 80 90 100
Pileup




	Contents
	Page 1


